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Which One Doesn't Belong — Acid-Base Properties

Question Group 1
Question 1
One of these representations is not like the others. Which one doesn't belong?

The pH is The solution
greater turns litmus
than 7. paper red.

Question 2
One of these representations is not like the others. Which one doesn't belong?

The solution The pH is
turns litmus less than
paper blue. 7.




Question 3
One of these representations is not like the others. Which one doesn't belong?

The pH is The solution
greater turns litmus
than 7. paper red.

Question Group 2
Question 4
One of these representations is not like the others. Which one doesn't belong?

The solution The pH is
turns ||thS |ess

paper blue. than 7.




Question 5
One of these representations is not like the others. Which one doesn't belong?

The pH is The solution
greater turns litmus

than 7. ~ :27“ e ! ~ paper red.
Question 6

One of these representations is not like the others. Which one doesn't belong?

The solution The pH is
turns litmus less

paper blue. than 7.




Question Group 3
Question 7
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:

The
% solution is
-
® basic.

Question 8
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:

The

*  solutionis
2 . g
(S acidic.




Question 9
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:

The
solution is

basic.

[ 1.00 M NaOH

Question Group 4
Question 10
One of these representations is not like the others. Which one doesn't belong?

Meter Reading: The bottle label says

The
solution is ‘ ,

acidic. =




Question 11
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:

The
solution is

acidic.

| 1.00 M NaOH

Question 12
One of these representations is not like the others. Which one doesn't belong?

The bottle label says Meter Reading:
The
solution is ‘ ,
I 2M HCI
basic. =




Question Group 5
Question 13
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:

The pH value
IS greater

than the pOH

value.

The [H;0%]
IS greater
than the

[OH"].

The solution
turns litmus

paper red.



Question 14
One of these representations is not like the others. Which one doesn't belong?

The pH value The [H;07]
IS greater IS greater
than the pOH than the
value. [OH].
Meter Reading:
The solution
turns litmus

paper blue.




Question 15
One of these representations is not like the others. Which one doesn't belong?

The solution The [H;0*]
turns litmus IS less than
paper red. the [OH].

Meter Reading:

The pH value
IS greater
than the pOH

value.




Question Group 6
Question 16
One of these representations is not like the others. Which one doesn't belong?

Meter Reading: Th Y |
e pH value

IS less than
the pOH

value.

The solution The [H;07]
turns litmus IS greater

than the
aper blue.
Pap [OH].



Question 17
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:
The [H,0]
IS less than
the [OH].

The pH value The solution
IS less than turns litmus

the pOH
value. paper red.



Question 18
One of these representations is not like the others. Which one doesn't belong?

The solution The [H;07]
turns litmus IS less than

paper blue. the [OH"].

Meter Reading:

The pH value
Is less than
the pOH

value.




Question Group 7
Question 19
One of these representations is not like the others. Which one doesn't belong?

The [OH]
is greater 'I'.|a5 a
than the slippery
[H3O+]. feel.
[H307] =

85x103M




Question 20

One of these representations is not like the others. Which one doesn't belong?

Meter Reading:

[H307] =
85x10°M

The [OH]
IS less
than the
[H;0].

~ After adding
phenolphthalein.



Question 21

One of these representations is not like the others. Which one doesn't belong?

The [H;0%]
IS less than
the [OH1].

Meter Reading:

[H0*] =
4.5x1010M

Has a

slippery
feel.



Question Group 8
Question 22
One of these representations is not like the others. Which one doesn't belong?

Reacts with The [H;07]

Mg to IS greater
produce H, than the
gas. [OH'].

Meter Reading:




Question 23
One of these representations is not like the others. Which one doesn't belong?

Reacts with
[OH'] = Mg to
i produce H,
9.2x10°M gas.
~ After adding Meter Reading:
phenolphthalein.
\hv :‘j{ﬁﬂ




Question 24
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:
Has a
slippery "’
feel. o

[OH'] —
45x101°M




Question Group 9
Question 25
One of these representations is not like the others. Which one doesn't belong?

[OH] =
45x1010M

Turns pH The pH value

paper ... Is greater
than the pOH




Question 26
One of these representations is not like the others. Which one doesn't belong?

Turns pH
paper ...

The solution [OH] =
turns litmus
paper blue. 9.2x 105 M




Question 27
One of these representations is not like the others. Which one doesn't belong?

Turns pH Reacts
paper ... with metals
to produce

m e

The [Hy0"]
is greater Has a
than the sour

[OH]. taste.




Question Group 10
Question 28
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:

The pH value
Is less than
the pOH

value.

Turns pH
The solution
a er - s ®
pap turns litmus

- paper blue.




Question 29
One of these representations is not like the others. Which one doesn't belong?

~ After adding
bhenolphmalain. React S
with metals
41 to produce

Sl H, gas.
-

Turns pH

The pH value
The pOH " dss than paper ...

IS less the pOH
than 7. value.



Question 30
One of these representations is not like the others. Which one doesn't belong?

Turns pH
Tastes paper ...
Sour. -
The pH value
IS less than
the pOH

value.



Question Group 11
Question 31
One of these representations is not like the others. Which one doesn't belong?

The pH of The pH value
the is greater
solution is than the pOH
8 5. value.
Meter Reading: ~ After adding

_ phenolphthalein.
- The solution 4

& * turns litmus
o &

-0° paper blue. -
‘ S Py 7

-



Question 32
One of these representations is not like the others. Which one doesn't belong?

~ After adding
phenolphthalein.

The solution
turns litmus

paper red.

et
S Py 7
- |

Meter Reading: The pH of The pH value

% the is greater
< solution is  thanthe pOH
5 45 value.



Question 33
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:

The [H;0%]
& % IS less than
P ® the [OH"].
The pOH bhenciphthaien.
of the The solution
solution is : turns litmus

8.5. a_‘,:,{,,n paper red.
-



Question Group 12
Question 34
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:
The solution
turns litmus
paper blue.

The pH value The pOH The [H;0%]
is less than of the is less than
the pOH solution is the [OH]

value. 4.5,



Question 35
One of these representations is not like the others. Which one doesn't belong?

The pOH Meter Reading:

of the s
solution is < .
4.5. .

The [H,0+]  ThepHvalue — The golution

is less than iStLeesgéhﬁn turns litmus

the [OH-] value. papel' blue



Question 36
One of these representations is not like the others. Which one doesn't belong?

Meter Reading:

. The [H;0%]
& * IS less than
S the [OH']

label says
| S The pOH
The sqlutlon - l - of the
turns litmus S solution is
paper red. N |
E 1M KOH 45




